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I Answer the following questions. 1 point each

1. What is the range of y =2—sin(4z—m) ?
2. Why is sin 46° = cos 44°?
3. In what quadrant does an angle# lie if cot 6 is positive but sine is negative?
4. What is the largest value of g(z) =—3sin(4z+5) ?
5. Arrange the following from smallest to largest: sin 1, sin 2, sin 3.
6. What is the exact value of (1 —tan 1°) (1 —tan 2°) ... (1 — tan 44°) (1 — tan 45°)?
Do as indicated.
1. Given: cos2a=—2> sinp—2, T<a,3<3". Find:
5 4’ 2 4
Q .
a. COSE 3 points
b. sinasinf3 1 point
c. sec(20—0) 2 points

2. Given «,3are measures of acute angles in standard position with A(2,1) on the terminal side of «
and B(3,1) on the terminal side of 3. Find:

a. cot(a—p) 2 points
b. tan(a-+(3) 2 points
: .7 :
3. Find the exact value of smg1T : 2 points

1 T
. C1o3sin|ls T
Given: f(z)=1+ Sm[zm 4].

1. Find the amplitude, the period, the phase shift, the vertical shift and the range of f. 5 points
2. Sketch the graph of f over one period. 1 point
Prove the following identities. 4 points each
1+cot’t

1 Zteott — csc’ t —cott

" 1-+cott

in6

5 tan’0+secOtan6 = sm.

' 1—sin6
Find the values of z,z €[0,27), in the following equations. 4 points each

1. sinz=cos’z
2. tan2z =tandzx
END OF EXAM



